«Ypasnenus nepeozo nopsaoka, ne papeuwiennvie OMHOCUMENbHO RPOU3BOOHOI)

1) () = (" +0)0") i ey =0.
OtBer: (y—C)-(eV —¢€" —C)-(\/;—é(\/;f —C):O, y =0 — ocoboe.

2) () =30y +7y' -6=0.

3) y :arcsiny'+ln(1+(y')2).
y=arcsint +1In l+t2),

OTBerT: arcsin ¢ y= 0.

x =Injtg +2arctgt +C;

x=t+Int,
4) x=y'+Iny'. OTBer: (1 +1)°
2

+C.

5) y=x(1+y)+(').

—, P _ _ p)— -p —
Ormer: ¥ = (c=2(p-1)e?)=ce £2(1-p) o
y=Ce”+2(0-p)| A+ p)+ p =Ce ’(1+ p)+2(1—p° )+ p~.
6) y=xy'—Iny’'. OtBer: y=xC —InC, y=1+Inx.
7) y:]n(1+(y')2). OTtBer: y:m(1+tg2(%)j, y=0
=tsint
8) arcsinizy'. Orger: {7~ °Mh 5 _
y' y=tcost+(t" —1)sint.
xy x
9) y'=e? . Oter: y=Ce®, y=e-x.

10) ' =In(xy' - y). Oreer: y=Cx —¢¢, y=x(Inx -1).



